

To: Darin Crawford

Assistant Superintendent for Support Services

From: Suzy Hunter

Nutrition Services Director

Date: September 10, 2025

Re: Cy-Fair High School Renovation - Equipment for Nutrition Services

Contract #25-10-3980

The following bids were received and opened at 1:00 p.m., Wednesday, August 13, 2025, as advertised and specified in documents concerning **Contract #25-10-3980 Cy-Fair High School Renovation - Equipment for Nutrition Services.** The bids received are located on pages 2-8.

^a Overall best value to the District

^b Price included in another line

Recommendation: Mission Restaurant Supply

Estimated Expenditure: \$2,338,340.15

Contract Term: October 14, 2025 - October 13, 2026

Renewal: 1 Year

pm

Line 1	AIR SCREEN CURTAIN					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Jean's Restaurant Supply	Mars Air STD248-1UA-OB	1	EA	\$1,117.80	\$1,117.80
	Mission Restaurant Supply	Mars Air STD248-1UA-OB	<u>1</u>	<u>EA</u>	\$1,139.00	\$1,139.00 a
	Culinary Depot	Mars Air STD248-1UA-OB	1	EA	\$1,159.32	\$1,159.32
	Bargreen Ellingson Inc.	Mars Air STD248-1UA-OB	1	EA	\$1,995.00	\$1,995.00
	Stafford-Smith, Inc.	Mars Air STD248-1UA-OB	1	EA	\$2,035.00	\$2,035.00
Line 2	COLD STORAGE ASSEMBLY					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Bargreen Ellingson Inc.	American Panel	1	EA	\$122,980.00	\$122,980.00
	Culinary Depot	Kolpak Custom	1	EA	\$126,350.00	\$126,350.00
	Mission Restaurant Supply	American Panel WALK-IN APC	<u>1</u>	<u>EA</u>	<u>\$129,703.00</u>	\$129,703.00 a
	Jean's Restaurant Supply	American Panel	1	EA	\$137,982.00	\$137,982.00
	Stafford-Smith, Inc.	American Panel L-SHAPED	1	EA	\$139,060.00	\$139,060.00
Line 3	COLD STORAGE REFRIGERATION	N SYSTEM				
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Stafford-Smith, Inc.	RDT ZS1-2 EcoSmart	1	EA	\$62,628.00	\$62,628.00
	Mission Restaurant Supply	RDT 2963211100	<u>1</u>	<u>EA</u>	<u>\$62,837.00</u>	\$62,837.00 a
	Jean's Restaurant Supply	RDT	1	EA	\$74,226.00	\$74,226.00
	Culinary Depot	RDT ZS1-2 EcoSmart	1	EA	\$75,900.00	\$75,900.00
	Bargreen Ellingson Inc.	RDT ZS1-02Z-CT3-EST	1	EA	\$82,242.00	\$82,242.00
Line 4	COLD STORAGE SHELVING					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Douglas Equipment	Metro MQ2436G	1	SET	\$6,666.65	\$6,666.65
	Culinary Depot	Metro	1	SET	\$19,492.36	\$19,492.36
	Jean's Restaurant Supply	Metro MetroMax	1	SET	\$20,094.88	\$20,094.88
	Mission Restaurant Supply	Metro LOT	<u>1</u>	<u>SET</u>	<u>\$20,260.00</u>	\$20,260.00 a
	Bargreen Ellingson Inc.	Metro LOT	1	SET	\$20,960.00	\$20,960.00
	Stafford-Smith, Inc.	Metro MetroMax Q	1	SET	\$22,577.00	\$22,577.00
Line 5	DUNNAGE RACK					
	SUPPLIER	MANUFACTURER/MODEL	QTY	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Culinary Depot	Metro HP2236PD	6	EA	\$132.18	\$793.08
	Jean's Restaurant Supply	Metro Metro Bow-Tie	6	EA	\$136.27	\$817.62
	Mission Restaurant Supply	Metro HP2236PD	<u>6</u>	<u>EA</u>	<u>\$138.00</u>	<u>\$828.00</u> a
	Bargreen Ellingson Inc.	Metro HP2236PD	6	EA	\$143.00	\$858.00
	Stafford-Smith, Inc.	Metro HP2236PD	6	EA	\$153.17	\$919.02
	Douglas Equipment	Metro HP2236PDMB	6	EA	\$245.53	\$1,473.18
Line 6	DRY STORAGE SHELVING					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Douglas Equipment	Metro 2442G	1	SET	\$1,954.96	\$1,954.96
	Culinary Depot	Metro	1	SET	\$20,721.19	\$20,721.19
	Jean's Restaurant Supply	Metro MetroMax	1	SET	\$21,361.18	\$21,361.18
	Mission Restaurant Supply	Metro LOT	<u>1</u>	<u>SET</u>	<u>\$21,580.00</u>	\$21,580.00 a
	Bargreen Ellingson Inc.	Metro LOT	1	SET	\$22,321.00	\$22,321.00
	Stafford-Smith, Inc.	Metro MetroMax Q	1	SET	\$24,000.00	\$24,000.00
Line 7	CAN RACK					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Douglas Equipment	New Age 1250CK	2	EA	\$1,176.74	\$2,353.48
	Stafford-Smith, Inc.	New Age 1250CK	2	EA	\$1,160.50	\$2,321.00
	Jean's Restaurant Supply	New Age 1250CK	2	EA	\$1,193.02	\$2,386.04
	Culinary Depot	New Age 1250CK	2	EA	\$1,200.00	\$2,400.00
	Mission Restaurant Supply	New Age 1250CK	<u>2</u>	EA	\$1,334.50	\$2,669.00 a
	Bargreen Ellingson Inc.	New Age 1250CK	2	EA	\$1,671.00	\$3,342.00

Line 8	ICE MAKER					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Culinary Depot	Manitowoc IYT1500A	1	EA	\$9,167.45	\$9,167.45
	Douglas Equipment	Manitowoc IYT1500A/D970	1	EA	\$9,731.09	\$9,731.09
	Mission Restaurant Supply	Manitowoc IYT1500A/D970	<u>1</u>	<u>EA</u>	\$10,354.00	\$10,354.00 a
	Jean's Restaurant Supply	Manitowoc IYT1500A	1	EA	\$11,108.24	\$11,108.24
	Stafford-Smith, Inc.	Hoshizaki KM-1601SAJ	1	EA	\$11,956.00	\$11,956.00
	Bargreen Ellingson Inc.	Manitowoc IYT1500A/D970/ICE140-S	1	EA	\$12,369.00	\$12,369.00
Line 9	CLOTHES WASHER	MANUE ACTURER/MORE	OT1/	11011	LINUT DDIOE	TOTAL PRIOR
	SUPPLIER	MANUFACTURER/MODEL	<u>QTY</u>	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Jean's Restaurant Supply	Home Depot WTW4855HW	1	EA	\$712.80	\$712.80
	Culinary Depot	WTW4855HW	1	EA	\$784.08	\$784.08
	Stafford-Smith, Inc.	Whirlpool WTW4855HW	1	EA	\$812.00	\$812.00
	Bargreen Ellingson Inc.	Whirlpool WTW4855HW	1	EA	\$1,000.00	\$1,000.00
	Mission Restaurant Supply	Whirlpool WTW4855HW	<u>1</u>	<u>EA</u>	<u>\$1,071.00</u>	\$1,071.00 ^a
Line 10	CLOTHES DRYER					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Jean's Restaurant Supply	Home Depot WED4850HW	1	EA	\$712.80	\$712.80
	Culinary Depot	WED4850HW	1	EA	\$773.19	\$773.19
	Stafford-Smith, Inc.	Whirlpool WED4850HW	1	EA	\$822.00	\$822.00
	Bargreen Ellingson Inc.	Whirlpool WED4850HW	1	EA	\$1,000.00	\$1,000.00
	Mission Restaurant Supply	Whirlpool WED4850HW	<u>1</u>	<u>EA</u>	<u>\$1,079.00</u>	\$1,079.00 a
Line 11	CHEMICAL SHELF					
		MANUEACTURED/MODEL	OTV	ПОМ	LINIT DDICE	TOTAL DDICE
	SUPPLIER Develop Fracing and	MANUFACTURER/MODEL	<u>QTY</u>	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Douglas Equipment	MetroModel MQ2436G Metro	1	SET	\$830.33	\$830.33
	Culinary Depot	Metro MetroMax	1	SET	\$2,028.48	\$2,028.48
	Jean's Restaurant Supply Mission Restaurant Supply	Metro Model LOT	1	SET	\$2,091.24	\$2,091.24 \$2,112.00 ^a
		Metro Moder LOT Metro LOT	1	<u>SET</u>	\$2,112.00	
	Bargreen Ellingson Inc.	Metro LOT Metro MetroMax Q	1	SET	\$2,188.00	\$2,188.00
	Stafford-Smith, Inc.	Metro MetroMax Q	1	SET	\$2,350.00	\$2,350.00
Line 12	THREE COMPARTMENT SINK WITH	H DISPOSER				
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Eagle Group SPECFAB	<u>5</u>	<u>EA</u>	\$3,523.80	\$17,619.00 a
	Stafford-Smith, Inc.	Fab Custom	5	EA	\$3,475.20	\$17,376.00
	Culinary Depot	Advance Tabco TVKS-3012	5	EA	\$11,036.93	\$55,184.65
	Bargreen Ellingson Inc.	Custom 3-Comp Sink	5	EA	\$12,636.00	\$63,180.00
	Jean's Restaurant Supply	Advance Tabco TVKS-3012	5	EA	\$13,697.19	\$68,485.95
Line 13	DISPOSER- 3HP					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Somat Master C3-L-Basic	<u>5</u>	EA	\$5,035.80	\$25,179.00 a
	Stafford-Smith, Inc.	Red Goat A3P-R7	<u>5</u>	EA	\$6,014.40	\$30,072.00
	Culinary Depot	Somat Master C3-L-Basic	5	EA	\$6,031.47	\$30,157.35
	Bargreen Ellingson Inc.	Somat Red Goat A3P-R7	5	EA	\$7,069.00	\$35,345.00
	Jean's Restaurant Supply	Somat Master C3-L-Basic	5	EA	\$7,392.02	\$36,960.10
			3		Ψ1,002.02	+, J • • · · •
Line 14	WORK TABLE WITH OVERSHELF					
	SUPPLIER	MANUFACTURER/MODEL	<u>QTY</u>	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Stafford-Smith, Inc.	Fab Custom	3	EA	\$4,369.33	\$13,107.99
	Jean's Restaurant Supply	Advance Tabco VKS-309	3	EA	\$4,627.03	\$13,881.09
	Culinary Depot	Advance Tabco	3	EA	\$4,627.03	\$13,881.09
	Bargreen Ellingson Inc.	Custom Worktable with Overshelf	3	EA	\$4,640.00	\$13,920.00
	Mission Restaurant Supply	Eagle Group SPECFAB	<u>3</u>	<u>EA</u>	\$6,601.34	\$19,804.02 a

Line 15	UTILITY CART					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Bargreen Ellingson Inc.	Caddy T-203-A	10	EA	\$1,019.00	\$10,190.00
	Culinary Depot	Lakeside 522	10	EA	\$1,037.82	\$10,378.20
	Jean's Restaurant Supply	Lakeside 522	10	EA	\$1,116.45	\$11,164.50
	Stafford-Smith, Inc.	Lakeside 522	10	EA	\$1,134.90	\$11,349.00
	Douglas Equipment	Lakeside 522	10	EA	\$1,258.40	\$12,584.00
	Mission Restaurant Supply	<u>Lakeside 522</u>	<u>10</u>	<u>EA</u>	<u>\$1,349.00</u>	\$13,490.00 a
Line 16	WORK TABLE WITH S BAR AND	UT RACK				
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Jean's Restaurant Supply	Advance Tabco SS-3012/309/306	5	EA	\$4,113.79	\$20,568.95
	Culinary Depot	Advance Tabco SS-3012	5	EA	\$4,113.79	\$20,568.95
	Stafford-Smith, Inc.	Fab Custom	5	EA	\$4,821.80	\$24,109.00
	Bargreen Ellingson Inc.	Custom Worktable With Utensil Rack	5	EA	\$6,446.00	\$32,230.00
	Mission Restaurant Supply	Eagle Group SPECFAB	<u>5</u>	<u>EA</u>	<u>\$8,362.60</u>	\$41,813.00 ^a
Line 17	WORK TABLE					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Bargreen Ellingson Inc.	Custom Worktable	4	EA	\$1,966.00	\$7,864.00
	Jean's Restaurant Supply	Advance Tabco SS-303	4	EA	\$2,331.23	\$9,324.92
	Culinary Depot	Advance Tabco SS-303	4	EA	\$2,331.23	\$9,324.92
	Mission Restaurant Supply	Eagle Group SPECFAB	4	<u>EA</u>	\$3,531.00	\$14,124.00 a
	Stafford-Smith, Inc.	Fab Custom	4	EA	\$2,619.25	\$10,477.00
Line 18	PAN RACK					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Culinary Depot	207UA12AD	10	EA	\$1,505.51	\$15,055.10
	Stafford-Smith, Inc.	CresCor 207-UA-12AD	10	EA	\$1,947.60	\$19,476.00
	Mission Restaurant Supply	Cres Cor 207UA12AD	<u>10</u>	<u>EA</u>	<u>\$1,992.00</u>	\$19,920.00 a
	Jean's Restaurant Supply	Cres Cor 207UA12AD	10	EA	\$2,030.96	\$20,309.60
	Bargreen Ellingson Inc.	Cres Cor 207UA12AD	10	EA	\$2,103.00	\$21,030.00
	Douglas Equipment	Cres Cor 207UA12AD	10	EA	\$2,254.31	\$22,543.10
Line 19	FIRE PROTECTION SYSTEM					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Culinary Depot	Accurex	8	EA	\$0.00	\$0.00 b
	Mission Restaurant Supply	Pye-Barker Fire & Safety LLC UL-300	<u>8</u>	<u>EA</u>	\$3,640.38	\$29,123.04 a
	Bargreen Ellingson Inc.	Ansul R102	8	EA	\$7,236.00	\$57,888.00
	Stafford-Smith, Inc.	Ansul R102	8	EA	\$8,500.00	\$68,000.00
Line 20	EXHAUST HOOD *152					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Mod-U-Serve MCT - HOODS	1	EA	\$27,076.00	\$27,076.00 a
	Stafford-Smith, Inc.	Mod-U-Serve MCT-SC	1	EA	\$27,982.00	\$27,982.00
	Bargreen Ellingson Inc.	MUS Hoods W-CPB	1	EA	\$28,163.00	\$28,163.00
	Jean's Restaurant Supply	Mod U Serve MCT HOODS	1	EA	\$172,206.92	\$172,206.92
	Culinary Depot	Accurex	1	EA	\$236,149.44	\$236,149.44
Line 21	EXHAUST HOOD *153					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Jean's Restaurant Supply	Mod U Serve MCT HOODS	1	EA	\$0.00	\$0.00 b
	Culinary Depot	Accurex	1	EA	\$0.00	\$0.00 b
	Mission Restaurant Supply	Mod-U-Serve MCT - HOODS	<u>1</u>	<u>EA</u>	\$18,252.00	\$18,252.00 a
	Bargreen Ellingson Inc.	MUS Hoods W-CPB	1	EA	\$19,311.00	\$19,311.00
	Stafford-Smith, Inc.	Mod-U-Serve MCT-SC	1	EA	\$27,982.00	\$27,982.00

Line 22	EXHAUST HOOD *154					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Jean's Restaurant Supply	Mod U Serve MCT HOODS	1	EA	\$0.00	\$0.00 b
	Culinary Depot	Aaccurex	1	EA	\$0.00	\$0.00 b
	Mission Restaurant Supply	Mod-U-Serve MCT - HOODS	<u>1</u>	<u>EA</u>	\$22,883.00	\$22,883.00 a
	Bargreen Ellingson Inc.	MUS Hoods W-CPB	1	EA	\$23,957.00	\$23,957.00
	Stafford-Smith, Inc.	Mod-U-Serve MCT-SC	1	EA	\$27,982.00	\$27,982.00
Line 23	EXHAUST HOOD *155					
-	SUPPLIER	MANUFACTURER/MODEL	<u>QTY</u>	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Jean's Restaurant Supply	Mod U Serve MCT HOODS	1	EA	\$0.00	\$0.00 b
	Culinary Depot	Accurex	1	EA	\$0.00	\$0.00 b
	Mission Restaurant Supply	Mod-U-Serve MCT - HOODS	<u>1</u>	<u>EA</u>	<u>\$27,769.00</u>	\$27,769.00 a
	Stafford-Smith, Inc.	Mod-U-Serve MCT-SC	1	EA	\$27,982.00	\$27,982.00
	Bargreen Ellingson Inc.	MUS Hoods W-CPB	1	EA	\$28,858.00	\$28,858.00
Line 24	EXHAUST HOOD *156					
	SUPPLIER	MANUFACTURER/MODEL	<u>QTY</u>	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Jean's Restaurant Supply	Mod U Serve MCT HOODS	1	EA	\$0.00	\$0.00 b
	Culinary Depot	Accurex	1	EA	\$0.00	\$0.00 b
	Mission Restaurant Supply	Mod-U-Serve MCT - HOODS	<u>1</u>	<u>EA</u>	\$22,085.00	\$22,085.00 a
	Bargreen Ellingson Inc.	MUS Hoods W-CPB	1	EA	\$23,156.00	\$23,156.00
	Stafford-Smith, Inc.	Mod-U-Serve MCT-SC	1	EA	\$27,982.00	\$27,982.00
Line 25	EXHAUST HOOD *157					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Jean's Restaurant Supply	Mod U Serve MCT-HOODS	1	EA	\$0.00	\$0.00 b
	Culinary Depot	Accurex	1	EA	\$0.00	\$0.00 b
	Stafford-Smith, Inc.	Mod-U-Serve MCT-SC	1	EA	\$27,982.00	\$27,982.00
	Mission Restaurant Supply	Mod-U-Serve MCT-HOODS	<u>1</u>	<u>EA</u>	\$37,275.00	\$37,275.00 a
	Bargreen Ellingson Inc.	MUS Hoods W-CPB	1	EA	\$39,396.00	\$39,396.00
Line 26	CONVECTION OVEN					
	SUPPLIER	MANUFACTURER/MODEL	<u>QTY</u>	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Vulcan VC66GD	<u>9</u>	<u>EA</u>	\$11,891.00	\$107,019.00 a
	Bargreen Ellingson Inc.	Vulcan VC66GD	9	EA	\$13,677.00	\$123,093.00
	Stafford-Smith, Inc.	Vulcan VC66GD	9	EA	\$14,512.40	\$130,611.60
	Culinary Depot	Blodgett DFG-200 DBL	9	EA	\$18,797.65	\$169,178.85
	Jean's Restaurant Supply	Blodgett DFG-200 DBL	9	EA	\$26,737.25	\$240,635.25
	Douglas Equipment	Blodgett DFG-200-ES DBL	9	EA	\$30,504.33	\$274,538.97
Line 27	DOUBLE CONVECTION STEAMER					
	SUPPLIER	MANUFACTURER/MODEL	<u>QTY</u>	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	AccuTemp N61201E060 DBL	<u>5</u>	<u>EA</u>	<u>\$25,804.00</u>	\$129,020.00 a
	Culinary Depot	AccuTemp N61201E060 DBL	5	EA	\$26,608.24	\$133,041.20
	Jean's Restaurant Supply	AccuTemp N61201E060 DBL	5	EA	\$27,275.93	\$136,379.65
	Bargreen Ellingson Inc.	AccuTemp N61201E060 DBL	5	EA	\$28,830.00	\$144,150.00
	Stafford-Smith, Inc.	AccuTemp N61201E060 DBL	5	EA	\$34,967.85	\$174,839.25
Line 28	RANGE WITH SPREADER CABINET A	ND FAUCET				
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Douglas Equipment	Southbend P16C-X	3	EA	\$4,858.13	\$14,574.39
	Culinary Depot	Southbend P16C-X	3	EA	\$7,998.54	\$23,995.62
	Jean's Restaurant Supply	Southbend P16C-X	3	EA	\$10,629.78	\$31,889.34
	Bargreen Ellingson Inc.	Southbend P16C-X	3	EA	\$12,586.00	\$37,758.00
	Stafford-Smith, Inc.	Southbend P16C-X	3	EA	\$12,500.33	\$37,500.99
	Mission Restaurant Supply	Southbend P16C-X/P8C-S	<u>3</u>	<u>EA</u>	<u>\$13,277.67</u>	\$39,833.01 a

Line 29	MOBILE WORK TABLE					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Bargreen Ellingson Inc.	Custom Mobile Worktable	4	EA	\$1,966.00	\$7,864.00
	Jean's Restaurant Supply	Advance Tabco SS-304	4	EA	\$2,541.80	\$10,167.20
	Culinary Depot	Advance Tabco SS-304	4	EA	\$2,541.80	\$10,167.20
	Stafford-Smith, Inc.	Fab Custom	4	EA	\$2,955.75	\$11,823.00
	Mission Restaurant Supply	Eagle Group SPECFAB	<u>4</u>	<u>EA</u>	<u>\$4,071.00</u>	\$16,284.00 a
Line 30	CONVEYOR OVEN - DOUBLE DECK					
	SUPPLIER	MANUFACTURER/MODEL	QTY	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Culinary Depot	Lincoln 1116-000-U	2	EA	\$14,217.30	\$28,434.60
	Jean's Restaurant Supply	Lincoln 1116-000-U	2	EA	\$15,188.90	\$30,377.80
	Mission Restaurant Supply	Lincoln 1180-FB2G	<u>2</u>	<u>EA</u>	\$27,396.00	\$54,792.00 a
	Douglas Equipment	Lincoln 1180-FB2G	2	EA	\$28,783.30	\$57,566.60
	Stafford-Smith, Inc.	Lincoln 1116-000-U	2	EA	\$29,750.50	\$59,501.00
	Bargreen Ellingson Inc.	Lincoln 116-000-U	2	EA	\$31,264.00	\$62,528.00
Line 31	PASS-THRU HEATED CABINET 26.1	CU. FT.				
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Traulsen RHF132WP-HHS	6	EA	\$9,181.00	\$55,086.00 a
	Stafford-Smith, Inc.	Traulsen HF132WP-HHS	6	EA	\$10,070.00	\$60,420.00
	Culinary Depot	Traulsen RHF132WP-HHS	6	EA	\$10,371.03	\$62,226.18
	Jean's Restaurant Supply	Traulsen RHF132WP-HHS	6	EA	\$10,589.30	\$63,535.80
	Bargreen Ellingson Inc.	Traulsen RHF132WP-HHS	6	EA	\$11,460.00	\$68,760.00
Line 32	PASS-THRU HEATED CABINET 55.8	CU. FT.				
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Traulsen RHF232WP-HHS	<u>4</u>	EA	\$14,427.00	\$57,708.00 a
	Stafford-Smith, Inc.	Traulsen HF232WP-HHS	4	EA	\$15,821.75	\$63,287.00
	Culinary Depot	Traulsen RHF232WP-HHS	4	EA	\$16,294.83	\$65,179.32
	Jean's Restaurant Supply	Traulsen RHF232WP-HHS	4	EA	\$16,547.71	\$66,190.84
	Bargreen Ellingson Inc.	Traulsen RHF232WP-HHS	4	EA	\$18,005.00	\$72,020.00
Line 33	PASS-THRU REFRIGERATOR 25.2 C	U. FT.				
	SUPPLIER	MANUFACTURER/MODEL	QTY	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Traulsen RHT132WPUT-HHS	<u>10</u>	<u>EA</u>	\$10,500.00	\$105,000.00 a
	Stafford-Smith, Inc.	Traulsen HT132WPUT-HHS	10	EA	\$11,516.40	\$115,164.00
	Culinary Depot	Traulsen RHT132WPUT-HHS	10	EA	\$11,860.72	\$118,607.20
	Jean's Restaurant Supply	Traulsen RHT132WPUT-HHS	10	EA	\$11,993.18	\$119,931.80
	Bargreen Ellingson Inc.	Traulsen RHT132WPUT-HHS	10	EA	\$13,107.00	\$131,070.00
Line 34	SERVING COUNTER *201					
· · ·	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Bargreen Ellingson Inc.	Countercraft Custom	2	EA	\$128,156.00	\$256,312.00
	Stafford-Smith, Inc.	Countercraft Custom	2	EA	\$174,314.50	\$348,629.00
	Mission Restaurant Supply	Countercraft CC 100013643_REV1	<u>2</u>	<u>EA</u>	\$497,469.50	\$994,939.00 a
	Culinary Depot	Countercraft Custom	2	EA	\$530,309.00	\$1,060,618.00
	Jean's Restaurant Supply	Mod-U-Serve Counters	2	EA	\$597,329.81	\$1,194,659.62
Line 35	MILK COOLER DOUBLE SIDE 34" LE	ENGTH				
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Traulsen RMC34D4	4	EA	\$5,556.00	\$22,224.00 a
	Culinary Depot	Traulsen RMC34D4	4	EA	\$6,005.52	\$24,022.08
	Jean's Restaurant Supply	Traulsen RMC34D4	4	EA	\$6,321.60	\$25,286.40
	Bargreen Ellingson Inc.	Traulsen RMC34D4	4	EA	\$6,637.00	\$26,548.00
	Stafford-Smith, Inc.	Traulsen RMC34D4	4	EA	\$7,761.25	\$31,045.00

Line 36	GUIDE RAIL					
-	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Culinary Depot	Custom	8	EA	\$1,000.00	\$8,000.00
	Stafford-Smith, Inc.	Fab Custom	8	EA	\$2,118.63	\$16,949.04
	Mission Restaurant Supply	Eagle Group SPECFAB	<u>8</u>	<u>EA</u>	\$2,924.38	\$23,395.04 a
	Bargreen Ellingson Inc.	Custom	8	EA	\$3,965.50	\$31,724.00
Line 37	SERVING COUNTER *217					
	SUPPLIER	MANUFACTURER/MODEL	<u>QTY</u>	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Countercraft CC 100013643_REV1	<u>2</u>	<u>EA</u>	<u>\$0.00</u>	\$0.00 a, b
	Culinary Depot	Countercraft	2	EA	\$0.00	\$0.00 b
	Jean's Restaurant Supply	Mod-U-Serve Counters	2	EA	\$0.00	\$0.00 b
	Stafford-Smith, Inc.	Countercraft SCOL-528	2	EA	\$174,314.50	\$348,629.00
	Bargreen Ellingson Inc.	Countercraft Custom	2	EA	\$244,891.00	\$489,782.00
Line 38	SERVING COUNTER *218					
	SUPPLIER	MANUFACTURER/MODEL	QTY	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Counter Craft CC 100013643 REV1	<u>2</u>	<u>EA</u>	<u>\$0.00</u>	\$0.00 a, b
	Culinary Depot	Countercraft	2	EA	\$0.00	\$0.00 b
	Jean's Restaurant Supply	Mod-U-Serve Counters	2	EA	\$0.00	\$0.00 b
	Bargreen Ellingson Inc.	Countercraft Custom	2	EA	\$128,071.00	\$256,142.00
	Stafford-Smith, Inc.	Countercraft SCOL-288	2	EA	\$174,314.50	\$348,629.00
Line 39	THREE COMPARTMENT SINK					
	SUPPLIER	MANUFACTURER/MODEL	QTY	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Jean's Restaurant Supply	Advance Tabco FSMOD-X	2	EA	\$10,409.50	\$20,819.00
	Bargreen Ellingson Inc.	Custom	2	EA	\$12,090.00	\$24,180.00
	Culinary Depot	Advance Tabco DTC-K30-144R	2	EA	\$14,348.62	\$28,697.24
	Stafford-Smith, Inc.	Fab Custom	2	EA	\$14,896.00	\$29,792.00
	Mission Restaurant Supply	Eagle Group SPECFAB	<u>2</u>	<u>EA</u>	<u>\$17,309.50</u>	<u>\$34,619.00</u> ^a
Line 40	DISHMACHINE					
	SUPPLIER	MANUFACTURER/MODEL	<u>QTY</u>	<u>UOM</u>	UNIT PRICE	TOTAL PRICE
	Culinary Depot	Hobart CL44-BAS+BUILDUP	1	EA	\$31,715.56	\$31,715.56
	Stafford-Smith, Inc.	Hobart CL44-BAS	1	EA	\$32,089.00	\$32,089.00
	Douglas Equipment	Champion 44 PRO	1	EA	\$34,293.96	\$34,293.96
	Jean's Restaurant Supply	Hobart CL44-BAS+BUILDUP	1	EA	\$34,624.56	\$34,624.56
	Mission Restaurant Supply	Hobart CL44-BAS+BUILDUP Hobart CL44-BAS+BUILDUP	<u>1</u> 1	EA	\$34,775.00	\$34,775.00 a
	Bargreen Ellingson Inc.	HODAIT CL44-BAS+BUILDUP	1	EA	\$38,367.00	\$38,367.00
Line 41						
	SUPPLIER Douglas Equipment	MANUFACTURER/MODEL Hatco C-24	<u>QTY</u> 1	UOM EA	UNIT PRICE \$3,817.55	TOTAL PRICE \$3,817.55
	Mission Restaurant Supply	Hatco C-24	<u>1</u>	EA	\$4,615.00	\$4,615.00 a
	Stafford-Smith, Inc.	Hatco C-24	<u>+</u> 1	EA	\$4,687.00	\$4,687.00
	Jean's Restaurant Supply	Hatco C-24	1	EA	\$4,818.55	\$4,818.55
	Culinary Depot	Hatco C-24	1	EA	\$4,818.55	\$4,818.55
	Bargreen Ellingson Inc.	Hatco C-24	1	EA	\$4,950.00	\$4,950.00
Line 42	MOBILE DRYING RACK					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Culinary Depot	Metro PR48VX4	11	EA	\$1,120.66	\$12,327.26
	Jean's Restaurant Supply	Metro Metro Max	11	EA	\$1,120.00	\$12,708.52
	Mission Restaurant Supply	Metro PR48VX4	11	EA	\$1,167.00	\$12,837.00 a
	Bargreen Ellingson Inc.	Metro PR48VX4	11 11	EA	\$1,107.00 \$1,213.00	\$13,343.00
	Douglas Equipment	Metro PR48VX4	11	EA	\$1,497.72	\$16,474.92
	Stafford-Smith, Inc.	Metro PR48VX4	11	EΑ	\$1,898.00	\$20,878.00
	•				. ,	

Line 43	HAND SINK					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Jean's Restaurant Supply	Advance Tabco 7-PS-66W-X	13	EA	\$576.99	\$7,500.87
	Culinary Depot	Hand Sink 7-PS-66W-X	13	EA	\$576.99	\$7,500.87
	Mission Restaurant Supply	Eagle Group HSA-10-F-3VP	<u>13</u>	<u>EA</u>	<u>\$594.00</u>	\$7,722.00 a
	Bargreen Ellingson Inc.	Advance Tabco 7-PS-66W-X	13	EA	\$681.00	\$8,853.00
	Stafford-Smith, Inc.	Elkay CHS1716C	13	EA	\$1,713.77	\$22,279.01
Line 44	TRANSPORT CART					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Cres Cor 150051	14	EA	\$2,099.00	\$29,386.00 a
	Jean's Restaurant Supply	Cres Cor 150051	14	EA	\$2,139.08	\$29,947.12
	Culinary Depot	New Age 95349	14	EA	\$2,456.35	\$34,388.90
	Stafford-Smith, Inc.	Cres Cor 150051	14	EA	\$2,551.29	\$35,718.06
	Bargreen Ellingson Inc.	New Age 95349	14	EA	\$2,837.00	\$39,718.00
Line 45	WALL BUMPER					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Culinary Depot	Custom	1	EA	\$2,456.35	\$2,456.35
	Stafford-Smith, Inc.	Pawling EB-4	1	EA	\$4,769.00	\$4,769.00
	Mission Restaurant Supply	Pawling EB-4/EB-17	<u>1</u>	<u>EA</u>	\$5,036.00	\$5,036.00 a
	Bargreen Ellingson Inc.	Pawling EB-4	1	EA	\$5,340.00	\$5,340.00
Line 46	MOP AND BROOM HOLDER					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Stafford-Smith, Inc.	Tough Guy 1ECL5	4	EA	\$75.00	\$300.00
	Culinary Depot	IMC MH4	4	EA	\$104.73	\$418.92
	Bargreen Ellingson Inc.	Custom Tough Guy 1ECL5	4	EA	\$105.00	\$420.00
	Mission Restaurant Supply	Eagle Group SPECFAB	<u>4</u>	<u>EA</u>	<u>\$301.50</u>	\$1,206.00 a
Line 47	TRENCH LINER					
	SUPPLIER	MANUFACTURER/MODEL	QTY	UOM	UNIT PRICE	TOTAL PRICE
	Mission Restaurant Supply	Eagle Group SPECFAB	<u>6</u>	<u>EA</u>	\$2,133.34	\$12,800.04 a
	Jean's Restaurant Supply	IMC/Teddy CFT-1872-SG-ADA	6	EA	\$2,477.48	\$14,864.88
	Culinary Depot	IMC CFT-1872-SG-ADA	6	EA	\$2,642.64	\$15,855.84
	Stafford-Smith, Inc.	Fab Custom	6	EA	\$2,696.33	\$16,177.98
	Bargreen Ellingson Inc.	IMC Teddy CFT-1872-SG-ADA	6	EA	\$3,012.00	\$18,072.00



Cypress-Fairbanks Independent School District Nutrition Services Department

11355 Perry Road Houston, Texas 77064 281-897-4543

TO: James Briscoe, Director of Procurement Services

FROM: Suzy Hunter, Nutrition Services Director

DATE: 9/10/2024

RE: Cy-Fair High School Renovation - Equipment for Nutrition Services 25-10-3980

The purpose of this memo is to explain the evaluation scoring for the Cy-Fair High School Renovation - Equipment for Nutrition Services 25-10-3980 bid. The vendor awarded is the lowest responsive bidder on all line items and has the highest score per line based on the weighted criteria included in the solicitation. The weighted criteria were developed to maintain compliance with the United States Department of Agriculture regulations for federal programs.

Weighted criteria include purchase price, reputation of the vendor and vendor's goods or services, quality of the vendor's goods or services, extent to which the goods or services meet the needs of the District, and any other relevant factors specifically listed in the request for bid or proposal. The evaluating committee was comprised of our own internal procurement professionals and other relevant Nutrition Services staff.

If you have any questions, please contact the Nutrition Services Department.

Sincerely,

SuzyHunter

Suzy Hunter

Nutrition Services Director